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M AQUHSESS)
el I2s3 |45 (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
M= 43,782,125 33,679,217 10,102,908
| 1,699,958 1,609,958 90,000
S 8,297,817 5,642,817 2,655,000
S 220,000 0 220,000
Al 33,548,176 26,410,268 7,137,908
= 16,174 16,174 0
AMEIH=SE24 3t 8,638,324 8,389,324 249,000
Il 837,958 747,958 90,000
= 569,817 514,817 55,000
Al 7,230,549 7,126,549 104,000
I2s+ |4 260,800 330,800 A70,000
D27 BIHZEE SSHAKR 0 70,000 70,000
201 L2 0 70,000 A70,000
03 A2 0 70,000 A70,000
OnZ=+ JUAZEE RSHA X
33 03 0 70,000 A70,000
M= =4 4,541,791 4,451,791 90,000
J| 90,000 0 90,000
Al 4,451,791 4,451,791 0
NEH=EEA 90,000 0 90,000
2l 90,000 0 90,000
301 Et2E = 90,000 0 90,000
| 90,000 0 90,000
RUsHY - 2SES242 90,000 0 90,000
OXNEF2SFIIR(5Y) 2578 & dXE
(AL ALE) 30,000,000 x14! 30,000 0 30,000
Il 30,000 30,000
OXTRSZIIR(YE) 2272 ¢ dXE
B (AIEALE) 30,000,000 x14! 30,000 30,000
| 30,000 30,000
OXE2sFIIR(8Y) 257 & dXE
B (AIEALE) 30,000,000 14! 30,000 0 30,000
| 30,000 0 30,000
MEHE sS4 3,327,940 3,118,940 209,000
J| 717,430 717,430 0
S 569,817 514,817 55,000
Al 2,040,693 1,886,693 154,000
ZRTXADI(H)HE 2 E3EDI0HE & 124,700 84,700 40,000
307 QI2tol M 124,700 84,700 40,000
04 QIZFHAIAIE B = 124,700 84,700 40,000
OZRSTXARI(HH)UE & al&EIIHe &
| ZF 124,700,000 124,700 84,700 40,000
HOHE Al K& 6,000 0 6,000
401 AlIEHIZL R OHYI 6,000 0 6,000
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SA - FE - SRA(3H) - MRAE - Off &4 I8N Hws2
01 A=l 6,000 0 6,000
QISHSHINE =4
6,000,000 170 2 6,000 0 6,000
2T GEdENSH & 35,000 20,000 15,000
307 212+01™ 35,000 20,000 15,000
04 CIZHHAIAIS B & 35,000 20,000 15,000
Ohllzel 23> HEdEM=lel &4
& & 35,000,000 35,000 20,000 15,000
gdrEstus 29 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
307 212told 40,000 0 40,000
== 20,000 0 20,000
Al 20,000 0 20,000
02 QI HAANEE X 40,000 0 40,000
OY72stua 2L (AEAIS)
40,000,000 *14] 40,000 0 40,000
=S 20,000 0 20,000
Al 20,000 0 20,000
2IF=Al BHERIE AZ Y SHOtE =M KA 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
307 212to1™ 40,000 0 40,000
== 20,000 0 20,000
Al 20,000 0 20,000
04 QIZHHAIAIH 2 £ 40,000 0 40,000
02023 A=Al BHERIE AZY BHOHE =X
B S| 40,000,000 *14] 40,000 0 40,000
=S 20,000 0 20,000
Al 20,000 0 20,000
RIFAl A2 E NEHHE A 30,000 0 30,000
= 15,000 0 15,000
Al 15,000 0 15,000
307 212t01™ 30,000 0 30,000
= 15,000 0 15,000
Al 15,000 0 15,000
04 QIZHHAIAIH 2 £ 30,000 0 30,000
02023 HFAIQ A2l GEHUH2 HE
30,000,000 x14! 30,000 0 30,000
S 15,000 0 15,000
Al 15,000 0 15,000
HISWATXSEHUS 38,000 0 38,000
307 212t01& 38,000 0 38,000
04 QIZHFHAIAIH 2 = 38,000 0 38,000
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SN - BE - SRA(SIH) - NIRAY - BES 0 &t ol & o blnE2
OHMI63] =& nAZ=2EUS IHE
38,000,000 14! 38,000 0 38,000
Fofeds =4 507,793 487,793 20,000
| 30,528 30,528 0
Al 477,265 457,265 20,000
ZRASEUX SXIAHE H=ZO0HCIEHE =CHE| JH= 10,000 0 10,000
307 gI2tol ™ 10,000 0 10,000
04 QIZHHAIAIE E X 10,000 0 10,000
OHal ZAEE XIS XIA H=ZH0HQIEH
O3 OH= 10,000,000 & * 14! 10,000 0 10,000
SHOHQ! AL EHAL JHE| 35,000 30,000 5,000
307 QI2H0| A 35,000 30,000 5,000
04 CIZIHAIAIRIE X 35,000 30,000 5,000
OFofel A= SHAF JfZ
Z& 35,000,000 35,000 30,000 5,000
ZOoHR! MEUs = 25,000 20,000 5,000
307 gI2tol 25,000 20,000 5,000
04 QIZHHAIAIE E X 25,000 20,000 5,000
OFoe M=lis &=L =d
Z2& 25,000,000& 25,000 20,000 5,000
HSAE &= 26,592,999 17,276,999 9,316,000
| 360,000 360,000 0
= 7,562,000 4,962,000 2,600,000
N 220,000 0 220,000
Al 18,450,999 11,954,999 6,496,000
SSHSAE &S 14,734,500 6,564,500 8,170,000
= 2,600,000 0 2,600,000
X 100,000 0 100,000
Al 12,034,500 6,564,500 5,470,000
g3 [HSsHH HE 650,000 500,000 150,000
401 Al&HIZ20HY| 650,000 500,000 150,000
01 AlEHI 650,000 500,000 150,000
OgdY I[PHSHE 2HE
Z& 650,000,000 650,000 500,000 150,000
JIHEA SENSHH HE 3,520,000 0 3,520,000
401 AIEHIZL 28I 3,520,000 0 3,520,000
01 Al&HI 3,000,000 0 3,000,000
OJIHEA SEMSHE 2E
3,000,000,000& * 14! 3,000,000 0 3,000,000
02 Zeldl 500,000 0 500,000
OoZeldl 500,000,000 14 500,000 0 500,000
03 AIE S CHYI 20,000 0 20,000
OAIZ=0| 20,000,000 14! 20,000 0 20,000
EHESEMSHE T8 (MSAIY) 4,000,000 0 4,000,000
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SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
= 2,600,000 0 2,600,000
Al 1,400,000 0 1,400,000
401 AIEHIL20HY 4,000,000 0 4,000,000
< 2,600,000 0 2,600,000
Al 1,400,000 0 1,400,000
01 Al&HI 4,000,000 0 4,000,000
OHHESEMSHE &4
4,000, 000,000 * 14! 4,000,000 0 4,000,000
< 2,600,000 0 2,600,000
Al 1,400,000 0 1,400,000
F X 24 300,000 0 300,000
401 AIEHIZL20HY 300,000 0 300,000
01 Al&HI 300,000 0 300,000
O&3=F =7HX =4
300,000,000 *14] 300,000 0 300,000
MPBEILIAZ QAXEC X 200,000 0 200,000
S 100,000 0 100,000
Al 100,000 0 100,000
401 AIEHIZL 20HY 200,000 0 200,000
x 100,000 0 100,000
Al 100,000 0 100,000
01 Al&HI 200,000 0 200,000
MIHUAY ARXMO =4
200,000,000 *14] 200,000 0 200,000
x= 100,000 0 100,000
Al 100,000 100,000
MEHSAIE =5 11,131,440 10,191,440 940,000
7 360,000 360,000 0
[ 4,962,000 4,962,000 0
S 120,000 0 120,000
Al 5,689,440 4,869,440 820,000
FEIII=ZE ZFAIE &1 100,000 0 100,000
x 50,000 0 50,000
Al 50,000 0 50,000
401 AIEHIZL20HY 100,000 0 100,000
x= 50,000 0 50,000
Al 50,000 0 50,000
01 AlI&HI 100,000 0 100,000
OFEmMIASZE =H &
100,000,000 x 14! 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
sizel U=sERY RIS &4 100,000 0 100,000
ES 50,000 0 50,000
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I MEHSAL

o
Ol

S - BE - BI(3) - NRAY - BAS il v ol H o CImE==
Al 50,000 0 50,000
401 AIEHIZL 2 OHYI 100,000 0 100,000
N 50,000 0 50,000
Al 50,000 0 50,000
01 A&l 100,000 0 100,000
Ozl =R fEF:1E =4
100,000,000& * 14! 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
FEHLIAE JIsE2S 40,000 0 40,000
S 20,000 0 20,000
Al 20,000 0 20,000
401 AlIEHIZL R OHYI 40,000 0 40,000
N 20,000 0 20,000
Al 20,000 0 20,000
01 Al&Hl 40,000 0 40,000
ORBHUAR IS
40,000,000 *14! 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
AEHOIESE QIRAC| B 100,000 0 100,000
401 AIEHIZL 28I 100,000 0 100,000
01 AlIZHI 100,000 0 100,000
OUENOIESH QAUXEC] E=
100,000,000& * 14! 100,000 0 100,000
A2=H S22 MSAE =4 600,000 0 600,000
401 Al&HIZ 20| 600,000 0 600,000
01 A&l 600,000 0 600,000
OAx=H =22 MSAME =4
600,000,000 14! 600,000 0 600,000
UXSAE &= 727,059 521,059 206,000
SUIMSAE EX & sX&2| 727,059 521,059 206,000
201 ZEH2 & 114,000 108,000 6,000
02 E324Hl 96,000 90,000 6,000
OsUNHSAIE S22
&3 96,000,000& 96,000 90,000 6,000
401 AIEHIZ 2018 600,720 400,720 200,000
01 Al&Hl 600,000 400,000 200,000
OsUM=AIE 28X € E=
23 600,000,000 600,000 400,000 200,000
e PP ol 769,450 760,000 9,450
HEsd =4 769,450 760,000 9,450
BIEMSEHA 24 932% £X 169,450 160,000 9,450
401 AIEHIZ 2018 169,450 160,000 9,450




2A:
X XH -
o e

=aak

IS Dt
zaxsne

38 xd

S - B SRA(SH) - NRAY - BES ol &rey /K" HIDZ2
02 Zeltl 9,450 0 9,450
Ozl 9,450,000 *14] 9,450 0 9,450
HSAE 2S2t 7,236,731 6,881,442 365,289
Il 342,000 342,000 0
= 166,000 166,000 0
Al 6,728,731 6,373,442 365,289
Ag2e|se ?I5 7,036,731 6,681,442 365,289
Il 282,000 282,000 0
= 166,000 166,000 0
Al 6,588,731 6,233,442 365,289
HSAIL 22l 6,140,731 5,785,442 365,289
309 HES 5,813,951 5,458,662 365,289
01 SAL- SHIYHES 5,813,951 5,458,662 355,289
ON=EEd 2& A
&3 2,913,157,000& 2,913,157 2,753,078 160,079
OZLHSHE /L ENS2 2 HEAIY
Bl Z& 2,900,794,000& 2,900,794 2,705,584 195,210
Hees(Hs) 173,275 106 173,169
SENS(Le 173,275 106 173,169
Bx3 gE(MSs) 173,275 106 173,169
802 Btet=DIEt 173,275 106 173,169
01 =12 x=ttets 70,028 46 69,982
O=1EX AIZEHH 69,102 0 69,102
Do02H AX=2% 0182 K&
61,703,050 *14] 61,704 0 61,704
D202 ZoOjQl AZ=2% 0|8A X
7,397, 2503+ 14 7,398 7,398
O=212x3 0lAEtg= 880 880
P02 AX=2AL 0|8A X
804,930 x14] 805 0 805
D202 EHoOjel A=A 0|SA X
74,1103 %14 75 0 75
02 Al - EHIEXSEtet= 103,247 60 103,187
OAl - SHIEXEZ AIS & 100,973 0 100,973
>202EH AR=2E 0l=2d A&
13,221,720 & %14 13,222 0 13,222
D202 FHojel AZ=2% 0lsA X
1,585, 120&*14] 1,586 0 1,586
Poo2E dEMEUY 24
1,717, 7503 14] 1,718 0 1,718
D202 AFXIH 2RE U EUE
N 1,500& « 14! 2 0 2
>2018E SZMSAIE =F
84,444, 7903 x 14! 84,445 84,445
OAl - THIEZXS 0lAtEH = 2,214 2,214
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M THREs(Ms
CHRl: 2EAEXE(YE (CH9: /M)
SA -3 - SA(3) - MISAY - B85 Oi &k N3 A Hws2
>ooed AR 0|2 K&
168, 7603 * 14 169 169
2022 FOfel AX=ULR 0|EA X
15,8303 * 14! 16 16
>2022E MEHSLNA 2
3,210& %14 4 4
>2022E JA=FXH ZRE HES S
=l 245314 1 1
>2022d X1t 23 HILIAOS! JH=
1,3303*14! 2 2
>2018E SSMSAIE &5
2,021,000& 14 2,022 2,022




